LESSON BASED ASSESSMENT 2025-26
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(1x4=4 Marks) ISP 1

|/ (Subtrahend) 05> X 26235-12124=14111 (1
S @ 12124 (c) 26235 (b) 14111 (a)

¢< 6 (Difference) J/U439637-26235= 13402 (2
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4)  30,000-20,000 =

(1x5=5 Marks) -2z -II

- uJJI
10000 20000 - 8625 | 5
11375 49137-39137| 6
5,000 G A=l P | 7
) 40,000 - 10,000 | 8
30,000 6,683-1683| 9

(2x3=6 - c,mni/z) uu”? -III
10) 20,000 11) 42,695 12) 50,625
- 8,625 -20,746 -36,178
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24497
26235 | 1
13402 | 2
g7 3
10,000, 4
11375| 5
10,000 6
Ji| 7
30,000 8
5,000 9
11,375 10
21,949 | 11
14,447 | 12
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